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Note: 1) Attemptany five questions out of eight.
s weAt A A fogl ara weAl 1 & Hv)
ii) All questions carry equal marks.
ft et & T 37

iii)In case of any doubt or dispute the English version
question should be treated as final.

<t +ft wopR & Wg et fFarg Hr FRARY F aisft wrar
P 99T B 3ifom g IR

1. a) Findaroot of the equation x3—-4x -9 =0 using bisection
method correct to three decimal places.

TrferorT &6t fafdy a1 mavT aR & FHaR 3 -4x-9=0
T U &1 QIMETd & o1 3ipT TP Yg B9 A 31 Hifdrg

b) Using Newton-Raphson method, find the real root of the
equation 3x = cosx + 1.

_eA-Ywa fafdy a1 wanT aR & FHaRT 3x=cosx + 1 @
T AR el S IRt |

BT-301 (AU/CE/CM/EC/IP/ME) (CBGS) PTO

. a)

b)

. a)

b)

. a)

(2]

Find the, cubic polynomial, which takes the following
values.

oy A B e ) e st 3 s A
x O LI 2] 3
fOl1]12]1 10
By means of Newton's divided difference formula, find
£(8) and £(9) from the following table:

=ye % Rforer aieR 31 @7 wanT 3R & Pt Aol A £(8)

ar £(9) @1 5 I BT
x | 4 5 7 [ 10 | 11 | 13
F()[ 48 | 100 | 294 | 900 | 1210 [2028

3 .
Using Simpson's 1/3 rule, obtain L x*dx by taking seven

ordinates. Compare it with exact values.

e ) R P I axaR qA A dled g¢ R
173 P fsx“dx @1 99 3 e wE q= B

eI 9 | g ST

Solve the following system by Gauss Elimination method.
TN Rt Y} = weftawer o @t g @ik
6x+3y+2z=6

6x+4y+3z=0

20x+ 15y + 12z=0

Solve the following system of equation by Gauss-Seidel
method.

TSa-dee Rt & wam ¥ F wdeser frem ot g
A

27x+ 6y —2z=85

6x + 15y +2z="T72

x+y+54z=110
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b) Using Lagrange's interpolation formula, find the cubic

polynomial that takes the following values. (4]
Aot sraRAY G 1w R B ageg wr S B) | Fitidiths followings
N et w1l B WE v 2 o @1 A1 ST @R

-~ 2 : 2 < i) L{t2 sin at}

y 1] 1{21]S5

¥ =
5. a) Using Runge-Kutta method of fourth order solve the ii) L{ ,[,c ‘cost df}
differential equation.
y — —
z =aplerr= 7. a) Using convolution theorem find L' {__l_}
(s=D(s+2)

Given that y(1) =2 (Take £ =0.1)
wqef B & A-geer Rty { Fe wefiaror g

g1 G-DG+2)

HIAT T BT AN IR 1:'{—l }W"{F{W
dy _ |
ax P (=123 W) b) Using Laplace Transform, solve equation (D*+2D + 1) y=1

fam mar & 6 y(1)=2 (h=0.10R) Given that y(0) = -3, (1) = -1
b) Using Picard's method find y for x = 0.1. Given that ey iR fAfy & Py wfiaor a0 g Al

fRyeprd &t Rty 1 JART @R x=0.1 | y B I T SRR (D2 +2D + 1) y=1¢ R w1 &1 (0) =-3, y(1) =1
o mar & g

. a) Find the probability that at most 5 defective fuses will be

dy y-x, 0 =1 found in a box of 200 fuses of experience shows that
—d; = y+x » y(O0)=1, 2 percent of such fuses are defective.

_ . 200 RT B T A1t 3 5 fuses B G AN G sfdiacn st

‘6. a) Sol&,l%d the given equation for y(1.1) using Taylor series HIRR af s a8 Fard & f¥ 2% wge @vE 2 21
me 3 3 5 2 : L gy
b) Find mean and variance of binomial distribution.
wan etesvor Y y(1.1) & -

<er Aoft fafer el Rk fRug wifdren des1 @1 urea g Rae s HRRY
Bl Hifdr
dy ko ok ok ok ok

—=2y+3e"; y(0)=0,
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